
KaonLTMeeting
February 29th, 2024

Richard Trotta



Overview

2

1. Iteration Script Issues
2. Unseparated Cross Sections
3. sigL/T vs t



1) Iteration Script Issues
● Uncertainties for unseparated cross section 

behave very weird when iterating
● Ratios behave normally

● But statistical errors on unsep xsects get 
smaller???
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2) Unseparated Cross Sections
Q=2.1,W=2.95 Q=3.0,W=2.32 Q=3.0,W=3.14

Q=4.4,W=2.74 Q=5.5,W=3.02



3) sigL/T vs t

Q=3.0,W=2.32 Q=2.1,W=2.95Q=4.4,W=2.74

Q=5.5,W=3.02 Q=3.0,W=3.14


